
    InstructIons to candIdates

 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
versions of Question Booklets with Question Booklet Alpha Code viz. a, B, c & d.

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
of the Question Booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in 
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 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha 
Code in the seating position, please draw the attention of the Invigilator ImmEdIATEly.

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your 
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same 
Alpha Code.

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should 
not open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the  candidate should check that 
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The 
Question Booklet does not have unprinted or torn or missing pages and if so he/she should 
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha 
Code. This is most important.

 8. Question Serial No. 1 to 70 are printed both in English and in Official Language (Malayalam). 
Doubts regarding the meaning and translation of Question Serial No. 1 to 70 will be settled 
based on the Questions in english.

 9. Two blank pages are provided before the last page of this Question Paper for rough 
work.

 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 
marking your answers.

 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 
Choose the correct answer and darken the bubble corresponding to the question number 
using Blue or Black Ball Point Pen in the OmR Answer Sheet.

 12. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. No negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Read the following sentences.
i. ‘Pativu Kanakku’ was introduced by marthanda Varma in Travancore.
ii. ‘Suchindram Kaimukku’ was stopped by Swathi Tirunal Rama Varma.
iii. devadasi system was abolished in Travancore during the reign of Sethu lakshmi 

Bai.
iv. The Institution of Slavery was abolished in Travancore during the reign of Sethu 

lakshmi Bai.

Select the true answer from the codes given below :
A) All the above B) Only i and ii C) Only i, ii and iii d) Only i, ii and iv

2. Which of the following pairs are correctly matched ?
i. K. P. Vallon – Pulaya mahasabha
ii. Ayya Vaikuntan – Ucchi Padippu
iii. C. P. Achutha menon – Vidya Vinodini
iv. T. K. madhavan – dhanvanthari
A) i, ii and iv B) i, ii and iii C) i, ii, iii and iv d) Only i

3. Which of the following statement/s about Responsible Government in Kerala is/are 
true ? 

i. Pattom A. Thanu Pillai was the first President of Travancore State Congress.
ii. ‘dharmarajyam’ is a book related with the struggle for Responsible Government in 

Kerala.
iii. The name of Accamma Cheriyan was associated with the Responsible Govt. in 

Kerala.
iv. Travancore State Congress song was composed by R. Sugathan.
A) i, ii and iii  B) i, iii and iv C) i, ii, iii and iv d) ii, iii and iv

4. Which one of the following does not belong to the same category ?
i. Ulghulan movement
ii. Sapha Har movement
iii. Kacha Naga Rebellion
iv. Ghadhar movement
A) i only B) ii only C) iii only d) iv only

5. Which of the following statements about the Chipko movement is/are not correct ?
i. Chipko movement was an Agrarian movement.
ii. Chipko movement got inspired by ‘Sarvodaya movement’.
iii. Gaura devi is an important leader of Chipko movement.
A) i only   B) i and ii only
C) i, ii and iii   d) None of the above

6. Which of the following terms does not indicate land during the mughal days ? 
A) Karori B) Jagir C) Parati d) Inam
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1. fLRu RWLaO¾]q]¨OÐ vL\W°¥ vLp]¨OW.
 i. f]qOv]fLUWPr]¤ "kf]vV We¨V' BqUn]\ÿfV oL¡¾L¼v¡Ú BeV.
 ii. y~Lf]f]qOÐL¥ qLov¡o "yO\}NÎU RRWoO¨V' j]¡¾sL¨].
 iii. f]qOv]fLUWPr]¤ SyfO sƒÜ]nLp] fÒOqLŸ]pORa nqeWLs¾V ShvhLy] yNÒhLpU 

j]¡¾sL¨].
 iv. SyfOsƒÜ]nLp] fÒOqLŸ]pORa nqeWLs¾V f]qOv]fLUWPr]¤ Aa]of~U 

j]¡¾sL¨].
  fLRu krpOÐ D¾q°t]¤ wq]pLpfV f]qR´aO¨OW
 A) oOWt]¤ kr´fV IsæLU  B) i DU ii DU oLNfU
 C) i, ii DU iii DU oLNfU d) i,  ii DU iv DU oLNfU

2. fLRu RWLaO¾]q]¨OÐvp]¤ JRfLR¨pLeV wq]pLp] S\qOÐfV ?
 i. RW. k]. vSçL¢ – -kOsp ozLyn
 ii. Aá RRvWOeVb¢ – D\ÿ] kf]ÕV 
 iii. y]. k]. A\ÿOfSoSjL¢ – v]h|Lv]SjLh]j]
 iv. a]. RW. oLiv¢ – ij~Íq]

A) i, ii  DU iv DU  B) i, ii  DU iii DU 
C) i, ii, iii  DU iv DU   d) i  oLNfU

3. D¾qvLh]f~oOç SWqtL Yv¦Ro£]RjÕã] fLRu krpOÐvp]¤ JfLeV wq]pLp]
ŸOçfV ?

 i. NaLv¢WP¡ SðãV SWL¦NYy]R£ Bh|R¾ Nky]c£V Bp]qOÐO kŸU I. fLeOk]ç. -
 ii. SWqt¾]¤ D¾qvLh]f~oOç Yv¦Ro£V qPk}Wqe¾]jLpOç yoq°RtÕã] 

IuOf]p]ŸOç kOñWU BeV i¡ÚqL^|U.
 iii. A¨LÚ R\r]pLR£ SkqV D¾qvLh]f~oOç SWqtL Yv¦Ro£OoLp] mÌRÕŸO 

W]a¨OÐO.
 iv. NaLv¢WP¡ SðãV SWL¦NYôV YLjU q\]\ÿfV B¡. yOYf¢ BeV.

A) i, ii  DU iii DU B) i, iii  DU iv DU C) i, ii, iii  DU iv DU d) ii, iii DU iv DU

4. fLRu krpOÐvp]¤ JfLeV KSq v]nLY¾]¤ RkaL¾fV ?
 i. D¤YOsL¢ oPvVRo£V - 
 ii. yLlL zL¡ oPvVRo£V
 iii. WL\L jLYL r]ms]SpL¦
 iv. YLiL¡ oPvVRo£V

A) i oLNfU B) ii oLNfU C) iii oLNfU d) iv oLNfU

5. \]kVSWL oPvVRo£OoLp] mÌRÕaO¾]pL¤ fLRukrpOÐvp]¤ JfO NkñLvj BeV 
wq]psæL¾fV  ?

 i. \]kVSWL oPvVRo£V KqO WL¡x]W oPvVRo£V  BeV. - 
 ii. \]kVSWL oPvVRo£V y¡SvÿLhp oPvVRo£]¤ j]ÐOU NkS\LhjU D¥R¨LºO.
 iii. \]kVSWL oPvVRo£]R£ NkiLjRÕŸ SjfLvLp]qOÐO YTq Shv].

A) i oLNfU   B) i DU ii DU
C) i, ii DU iii DU  d) So¤Õr´vRpLÐOosææ

6. fLRukrpOÐvp]¤ JfLeV oOY¥nqeWLs¾V "òsU' IÐ vL¨]jOkWqU 
DkSpLY]¨L¾ vL¨V ?

 A) WSqLq] B) ^LY]¡ C) kLqf] d) CjLU
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7.  Which of the following statement/s is/are true ?
i. ‘Sugar Act’ was related with American Revolution.
ii. ‘Green Ribbon Club’ was associated with English Revolution.
iii. ‘Three People’s Principles’ were associated with Chinese Revolution.
iv. ‘Ten days That Shook The World’ was associated with French Revolution.
A) i, ii and iii B) i, ii and iv C) ii, iii and iv d) Only iv

8. Which one of the following statement/s about UNO is/are not true ?
i. UNO was based on the concept of National sovereignty and Big power  

co-operation.
ii. The purpose of UNO is defined in Article I of the UN Charter.
iii. WTO (World Trade Organisation) is a specialised agency of UNO.
iv. UNO was formed to maintain international peace and security.
A) i, ii and iii B) i, iii and iv C) ii, iii and iv d) Only iii

9. Consider the following statements, which one is correct ?
i. Tennis Court Oath was related with French Revolution.
ii. ‘Taille’, ‘tithe’ and ‘gabelle’ were terms denoting taxes prevailed in France during 

French Revolution.
iii. “The Friend of our Country” was a journal of rebels during the French Revolution.
iv. ‘Pride’s Purge’ was connected with French Revolution.
A) i, ii and iv B) i, ii and iii C) ii, iii and iv d) i, iii and iv

10. Read the following statements regarding National Food Security Bill.
i. The aim of the Bill is to provide subsidised food to the poor people of the Country.
ii. This Bill was first implemented in Rajasthan.
iii. AAy (Antyodaya Anna yojana) is an extension of this Bill.
iv. Targetted Public distribution System is jointly operated by Central and State 

Governments.

Which among the codes given below is true ?
A) i, ii and iii B) ii, iii and iv C) i, ii, iii and iv d) i, ii and iv

11. Consider the following statements :

  Statement A : Westerlies are more powerful and aggressive in Southern 
hemisphere.

  Statement B : Westerlies in Southern hemisphere blows through friction free surface 
of oceans.

Select the correct answer.
A) Statement A is correct, B is incorrect
B) Statement B is correct, A is incorrect
C) Both statements are incorrect
d) Both statements are correct and statement B explains statement A
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7. fLRu RWLaO¾]q]¨OÐ JfV NkñLvj/NkñLvjW¥ BeV wq]pLp]ŸOçfV ?
 i. "xOY¡ BW›V' ASoq]¨¢ v]kævvOoLp] mÌRÕŸ]q]¨OÐO. -
 ii. "NY}¢ r]m¦ WæmV' CUYæ}xV v]kævvOoLp] mÌRÕŸ]q]¨OÐO.
 iii. "Nf} k}Õ]¥yV Nk]¢y]Õ]¥yV' RR\j}yV v]kævvOoLp] mÌRÕŸ]q]¨OÐO.
 iv. "Ra¢ RcpVyV hLãV xO¨V h Sv¥cV' NlµV v]kævvOoLp] mÌRÕŸV  

W]a¨OÐO.
A) i, ii DU iii DU B) i, ii DU iv DU C) ii, iii DU iv DU d) iv oLNfU

8. fLRu krpOÐ JfV NkñLvj/NkñLvjW¥ BeV UNO Rp yUmÌ]\ÿV RfãLp]ŸOçfV ?
 i. Shw}p kqoLi]WLqvOU, v¢w©] SWL¡kSrxjOoLp] mÌRÕŸLeV UNO IÐ 

BwpU j]sv]¤ vÐfV. - 
 ii. UNO pORa sƒ|U B¡Ÿ]¨]¥ – I IÐ UN \L¡Ÿr]¤ j]¡vÿ\]\ÿ]q]¨OÐO.
 iii. WTO (Sv¥cV SNacV KL¡YRRjSyx¢) UNO pORa Ry×x|RRsyVcV J^¢y] BeV.
 iv. UNO qPk}Wq]\ÿfV AÍ¡Shw}p yoLiLjvOU yOqƒpOU oOÐ]¤ WºORWLºLeV.

A) i, ii DU iii DU B) i, iii DU iv DU C) ii, iii DU iv DU d) iii oLNfU

9. fLRukrpOÐ JfO NkñLvj BeV wq]pLpOçfV ?
i. RaÐ}yV SWL¡ŸV yf|U NlµV v]kævvOoLp] mÌRÕŸ]q]¨OÐO.
ii. "RapVs]', "ã]S¾' "YmSsæ' IÐ} kh°¥ NlµV v]kævWLs¾V NlL¢y]¤ j]WOf]Rp 

yP\]Õ]¨L¢ DkSpLY]\ÿ]qOÐO.
iii. "h] NlºV KLlV KTv¡ W¦Na]' IÐfV NlµV v]kævWLsR¾ v]ofqORa S^¡e¤  

Bp]qOÐO.
iv. RRNkcVyV k¡^V' NlµV v]kævvOoLp] mÌRÕŸ]q]¨OÐO.
A) i, ii DU iv DU B) i, ii DU iii DU C) ii, iii DU iv DU d) i, iii DU iv DU

10.  Shw}p nƒ|yOqƒL m]¤ yUmÌ]¨OÐ fLRukrpOÐ NkñLvjW¥ vLp]¨OW.
 i. CT m]sæ]R£ sƒ|U qL^|R¾ kLvRÕŸv¡¨Oç nƒe¾]R£ ymVy]c]pLeV
 ii. CT m]¤ Bh|oLp] j]sv]¤ vÐfV qL^òLj]¤ BeV.
 iii.  AAy(AÍ]SpLhp AÐ SpL^j) CT m]sæ]R£ v]kOs}WqeU BeV.
 iv. RkLfOv]fqe yUv]iLjU SWNÎYv¦Ro£OU yUòLjYv¦Ro£OU KÐ]\ÿO 

ja¾OÐO.
 fLRu krpOÐvp]¤ wq]pLpfV f]qR´aO¨OW.

A) i, ii  DU iii DU B) ii, iii  DU iv DU C) i, ii, iii  DU iv DU d) i, ii DU iv DU

11. fLRu krpOÐ NkñLvjW¥ èÈ]¨OW.

  NkñLvj a : hƒ]eL¡ÈSYLt¾]Rs ké]ovLf°¥ WPaOf¤ w©]pOçfOU 
BNWoeLy©vOU BeV.

  NkñLvj B : hƒ]eL¡ÈSYLt¾]Rs ké]ovLf°¥ DqpL¾ yoONhNkfs¾]sPRa 
\q]¨OÐO.

  fLRu RWLaO¾]q]¨OÐvp]¤ wq] WRº¾OW.
A) NkñLvj A wq], B RfãV
B) NkñLvj B wq], A RfãV
C) qºO NkñLvjWtOU RfãV
d) qºO NkñLvjWtOU wq], NkñLvj B, NkñLvj A Rp v]wh}Wq]¨OÐO
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12. Patlands are characteristic features of
A) Aravallis   B) Chota Nagpur region
C) Kashmir Himalaya   d) Thar desert

13. Isohalines are lines joining places having equal
A) Cloud cover B) Salinity C) Sunlight d) Seismic waves

14.  Consider the following statements on Western Ghats. Which one is correct ?
A) Western Ghat is a young fold mountain
B) Western Ghat was formed in Tertiary Period
C) Western Ghat is an Escarpment
d) Western Ghat is composed of sedimentary rocks

15.  Which of the following is an open source GIS software ?
A) QGIS B) map Info C) Arc GIS d) ERdAS

16.  GdP at Factor Cost is
A) GdP at mP – Net Indirect Taxes B) GdP at mP – depreciation
C) GdP at mP + Net Product Taxes d) GdP at mP + Net Income from Abroad

17. Among the factors of production the passive ones include
A) land   B) labour
C) Capital   d) Both land and capital

18. Which among the following measures will reduce the supply of money in the economy ?
A) Purchase of Government Securities by RBI
B) Sale of Government Securities by RBI
C) Borrowings of the Central Government from RBI
d) None of the above

19. Which of the following is/are correct regarding the Repo rate ?

i. It is always lower than the Bank rate

ii. It is always higher than reverse Repo rate

iii. It focuses on short term financial needs

iv. No collateral is involved when it is charged

A) Only i and ii B) i, ii and iii C) Only i and iii d) All the above

20.  Fiscal deficit refers to
A) Total Expenditure – Total Revenue Receipts
B) Total Expenditure – (Revenue Receipts plus Non-debt Capital Receipts)
C) Revenue Deficit – Interest Payments
d) Total Expenditure – (Revenue Receipts plus Capital Receipts)
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12. "kLãVsL¢cVyV' IÍ]R£ y~nLv yv]SwxfpLeV ?
 A) AqLvsæ}yV   B) SMLŸL jLYVkP¡ Nkvw|
 C) WLwVo}¡ z]oLsp  d) fL¡ oqOnPo]

13. "CSyLzL RRs¢yV' IÐL¤ KSqLSkLsOç _______ Rj mÌ]Õ]¨OÐ vqWtLeV.
 A) SoZLvqeU   B) sveLUwU
 C) yPq|qwÜ]  d) nPWÒ fqUY°¥

14. ké]oZŸS¾¨Or]\ÿOç fLRukrpOÐ NkñLvjWt]¤ wq]pLpfV JfV ?
 A) ké]oZŸU KqO CtU oa°V osj]qpLeV 
 B) ké]oZŸU oPÐLoR¾ WLsptv]sLeV qPk}WQfoLpfV
 C) ké]oZŸU KqO IyVWL¡kVRo£V BeV
 d) ké]oZŸU kLrWtORa Avw]ìU RWLºV j]¡Ú]¨RÕŸ]q]¨OÐO

15. fLRukrpOÐvp]¤ JfLeV GIS  SyLlVãVRvpr]R£ fOrÐ SNyLfyV ?
A) QGIS B) map Info C) Arc GIS d) ERdAS

16. GdP-pORa ZaW\]svV.
A) GdP at mP – Aã kSqLƒ j]WOf] B) GdP at mP – oPs|¾W¡\ÿ
C) GdP at mP + Aã D¤ÕÐ j]WOf] d) GdP at mP + Aãv]Shw vqOoLjU

17. DfVkLhj ZaW°t]¤ j]xVNW]poLpfV JfV ?
 A) òsU/nPo]  B) Ai~LjU
 C) oPsijU   d) òsvOU oPsijvOU

18. fLRu krpOÐvp]¤ JfLeV yÒ¾V v|vòp]¤ yÒ¾]R£ v]fqeU WOr¨OÐfV ?
 A) Yv¦Ro£V RyW|Pq]ã}y]Rj RBI vL°OÐfV
 B) Yv¦Ro£V RyW|Pq]ã}y]Rj RBI v]¤¨OÐfV
 C) SWNÎYv¦Ro£]R£ RBI p]¤ j]ÐOç WaU vL°¤ 
 d) CRfLÐOosæ

19. r]SÕL Srã]Rj Nkf] fLRu krpOÐvp]¤ wq]pLpfV/Bpv JfV ?

i. CfV IsæLpVSÕLuOU mLË]R£ Srã]¤ WOrvLeV.

ii. CfV v]kq}f r]SkL Srã]Sj¨L¥ ISÕLuOU Dp¡ÐfLeV.

iii. CfV zQy~WLs yLÒ¾]WLvw|°Rt SWNÎ}Wq]¨OÐO.

iv. CfV CTaL¨OSÒL¥ kL¡w~ò°¥ DºLvLr]sæ.

A) i DU ii DU oLNfU   B) i, ii DU iii 

C) i DU iii oLNfU  d) oOWt]¤ kr´vRpsæLU

20. l]Ø¤ Rcl]y]ãV (ij¨Ú]) IÐL¤

 A) oOuOv¢ \]svV – oOuOv¢ vqOoLj qy}fOW¥

 B) oOuOv¢ \]svV – (oOuOv¢ vqOoLj qy}fOW¥ + WaosæL¾ oPsij qy}fV)

 C) vqOoLj Ca]vV – ks]w Aa\ÿfOW

 d) oOuOv¢ \]svV – (oOuOv¢ vqOoLj qy}fOW¥ + oPsij qy}fOW¥)
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21.  Which Article deals with the suspension of the Fundamental Rights guaranteed by 
Article 19 as soon as emergency is declared ?
A) Article 352 B) Article 356 C) Article 358 d) Article 359

22. Which of the following is in the Concurrent list in the Constitution of India ?
A) Production, supply and distribution of goods
B) Newspapers, books and printing presses
C) Regulation of mines and mineral development
D) Standards in institutions for higher education or research and scientific and technical 

institutions

23. Amendment on Citizenship – acquisition and termination requires
A) A simple majority of Parliament
B) A special majority of Parliament
C) A special majority of Parliament and consent of States 
d) A court order

24. The directive Principles of State Policy in Indian Constitution resembles the 
‘Instruments of Instructions’ enumerated in the
A) Government of India Act of 1909 B) Government of India Act of 1919
C) Government of India Act of 1935 d)  Government of India Act of 1947

25. Which of the following arguments is not correct about the amendment of Indian 
Constitution ?
A) There is no provision for a special body like Constitutional Convention or Constitutional 

Assembly for amending
B) The power to initiate an amendment to the Constitution lies with the Parliament except 

in one case i.e., creation and abolition of legislative Councils in the States
C) The Constitution does not prescribe the time frame within which the State legislatures 

should ratify or reject an amendment submitted to them
d) There is a provision for holding a joint sitting of both the House of Parliament if there 

is a deadlock over the passage of a Constitutional Amendment Bill

26. The condition of service of members of All India Service are determined by
A) President of India   B) Constitution of India
C) Parliament of India   d) Union Public Service Commission

27. Constitutional safeguards to Civil Servants are ensured by
A) Article 310 B) Article 311 C) Article 312 d) Article 315
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21. Af|Lz]fU NkX|Lk]¨OSÒL¥ B¡Ÿ]¨]¥ –19 DrÕOj¤WOÐ oTs}WLvWLw°¥ 

j]¡¾sL¨OÐ B¡Ÿ]¨]¥ JfLeV ?

A) B¡Ÿ]¨]¥ 352 B) B¡Ÿ]¨]¥ 356 C) B¡Ÿ]¨]¥ 358 d) B¡Ÿ]¨]¥ 359

22. fLRu krpOÐvp]¤ JfLeV CÍ|¢ nqeZajpORa W¦Wr£V s]ð]¤ DçfV ?

 A) \q¨OWtORa DfVÕLhjvOU v]fqevOU  

 B) v¡¾oLj kNf°¥, kOñW°¥, A\ÿa]NkôOW¥

 C) Xj]WtOSapOU iLfO¨tOSapOU v]Wyj¾]R£ j]pNÍeU

 d) DÐfv]h|Ln|LyU, YSvxeU, wLNñ}p yLSËf]W òLkj°¥ IÐ]vpORa 

oLjh¼°¥

23. kTqf~U&JRãaO¨¤, AvyLj]Õ]¨¤ IÐ]v yUmÌ]\ÿ SnhYf]¨V Bvw|oLpfV ?

 A) kL¡sRo£]R£ st]foLp nPq]kƒU 

 B) kL¡sRo£]R£ NkSf|W nPq]kƒU

 C) kL¡sRo£]R£ NkSf|W nPq]kƒvOU yUòLj°tORa yÚfvOU

 d) KqO SWLaf] D¾qvV

24. CÍ|¢ nqeZajp]Rs SðãV SkLt]y]pORa cprW›}vV ff~°¥ "C¢Ny›ORo£VyV KLlV 

C¢Ny›ƒ¢' SqXRÕaO¾]p]q]¨OÐfV ?

A) 1909- Rs CÍ|L Yv¦Ro£V BW›V B) 1919-Rs CÍ|L Yv¦Ro£V BW›V

C) 1935- Rs CÍ|L Yv¦Ro£V BW›V d)  1947- Rs CÍ|L Yv¦Ro£V BW›V

25. CÍ|¢ nqeZajpORa SnhYf]NkWLqU, Cj] krpOÐvp]¤ JfV vLhoLeV wq]psæL¾fV ?

 A) nqeZajL W¦Rv¢xSjL nqeZajL AyUmæ]SpL SkLsOç KqO NkSf|W 

SmLc]¨V v|vòp]sæ.

 B) nqeZajL SnhYf]¨V fOa¨U WOr]¨OvLjOç Ai]WLqU kL¡sRo£]S£fLeV. 

AfLpfV yUòLj°t]¤ j]poynL yo]f]W¥ yQì]¨OWpOU j]¡¾sL¨OWpOU 

R\áOÐfV.

 C) nqeZajL SnhYf] R\áL¢ KqO yopkq]i] j]ép]\ÿ]Ÿ]sæ, AfV yUòLj  

j]poynW¥ AUY}Wq]¨OWSpL j]qy]¨OWSpL R\áLjOU

 d) nqeZajL SnhYf] m]¤ kLyL¨L¢ mOÈ]oOŸLp Avyq°t]¤ kL¡sRo£]R£ 

CqOynWt]sOU yUpO© o}ã]UYV ja¾L¢ v|vòpOºV.

26. AX]SsÍ|L Syvj¾]Rs AUY°tORa Syvj v|vò j]¡¹p]¨OÐfV.

 A) CÍ|¢ qLNìkf]  B) CÍ|¢ nqeZaj

 C) CÍ|¢ kL¡sRo£V  d) pPe]p¢ kmæ]WV y¡v}yV WÚ}x¢ 

27. y]v]¤ y¡v}yOWL¡¨V nqeZajLkqoLp yOqƒ DrÕL¨OÐfLeV.

A) B¡Ÿ]¨]¥ 310 B) B¡Ÿ]¨]¥ 311 C) B¡Ÿ]¨]¥ 312 d) B¡Ÿ]¨]¥ 315
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28. Under RTI Act, 2005 the information is provided to the applicant free of cost
i. If the applicant is a BPl person
ii. Where a public authority fails to provide information within 30 days of application
iii. Where a public authority fails to provide information within 45 days of application
iv. Where a public authority provide incorrect information to the applicant
A) Only i and ii B) Only i and iii C) Only i d) Only iv

29. According to Consumer Protection Act which of the following is not a Consumer 
Right ?
A) Right to Choice B) Right to Consumer Education
C) Right to Bargain d) Right to be Heard or Right to Representation

30. National Human Right Commission is a
A) Statutory body
B) Constitutional body
C) Neither a Constitutional body nor a Statutory body
d) Extra Constitutional body

31. Who wrote the book Keralam-Mannum Manushyarum ?
A) P. Govinda Pillai   B) m. G. S. Narayanan
C) dr. T. m. Thomas Isac  d) E. m. S. Nambuthiripad

32. Which among the following was the Editor of Vidya Vinodini ? 
A) C. P. Achutha menon   B) K. Narayana Kurukkal
C) K. damodaran   d) Kalloor Ummen Philippose

33. Sangeetha Naishadam was related to
A) Ponjikkara Rafi   B) T. C. Achutha Menon
C) P. K. Kocheeppan Tharakan d) George mathan

34. Which among the following games is related to the term Pitcher ?
A) Tennis B) Basketball C) Golf d) Baseball

35. Koduppunna is the pen-name of
A) Raman Nair   B) Krishna Pillai
C) Govinda Ganakan   d) T. Ramachandran

36. Who won the title ‘Champion of Champions’ in the World Shooting Championship ?
A) Jaspal Rana   B) Abhinav Bhindra
C) manshar Singh   d) Anjali Bhagavath

37. Mohini Bharadwaj bagged Olympic medal in Gymnastics in 2004 Athens Olympics 
for
A) India B) America C) Thailand d) Nepal
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28. v]vqLvWLwj]poU 2005 NkWLqU ASkƒWjV l}y]sæLRf jäRÕaOÐfV.
i. ASkƒW¢ KqO m]. k]. I¤. v|©]pLReË]¤ 
ii. ASkƒ j¤W] 30 h]vy¾]jOç]¤ KqO RkLfO ASfLr]ã] v]vq°¥ j¤WOÐf]¤ 

kqL^pRÕaOÐ]a¾V
iii. 45-h]vy¾]jOç]¤ KqO RkLfO ASfLr]ã] v]vq°¥ jäL¢ kqL^pRÕaOÐ]a¾V
iv. KqO RkLfO ASfLr]ã] RfãLp v]vq°¥ ASkƒWjV jäOÐ]a¾V
A) i, ii oLNfU B) i, iii oLNfU C) i oLNfU d) iv oLNfU

29. fLRu krpOÐvp]¤ JfLeV DkSnLWVfQ yUqƒe j]poojOyq]\ÿV DkSnLWVfQ 
AvWLwosæL¾fV ?

 A) f]qR´aO¨LjOç AvWLwU 
 B) DkSnLWVfQ v]h|Ln|Ly¾]jOç AvWLwU
 C) v]sSkwLjOç AvWLwU
 d) SW¥¨LjOç AvWLwU ARsæË]¤ NkLf]j]i|¾]jOç AvWLwU

30. Shw}p ojOx|LvWLw WÚ}x¢ IÐL¤
 A) KqO ðLã|PŸr] SmLc] BeV 
 B) nqeZajL SmLc] BeV
 C) KqO nqeZajL òLkjSoL j]pokqoLp òLkjSoL Asæ
 d) Ai]W nqeZajL SmLc] BeV

31. ""SWqtU – o¹OU ojOx|qOU'' IÐ kOñWU IuOf]pfV BqV ?
 A) k]. SYLv]ÎÕ]ç  B) IU. ^]. IyV. jLqLpe¢
 C)  ScL. a]. IU. SfLoyV RIy¨V d) C. IU. IyV. jÒPf]q]ÕLaVV

32. fLRu krpOÐvq]¤ BqLeV v]h|Lv]SjLh]j]pORa W¡¾LvV ?
 A) y]. k]. A\ÿOfSoSjL¢ B) RW. jLqLpe WOqO¨¥
 C) RW. hLSoLhq¢  d) WsæP¡ DÚ¢ l]s]SÕLyV

33. yUY}f RRjxLhU mÌRÕŸ]p]q]¨OÐfV ?
 A) RkL´]¨q rLl]  B) a]. y]. A\ÿOfSoSjL¢
 C) k]. RW. RWL\ÿ}Õ¢ fqW¢ d) S^L¡^V oL¾¢

34. "k]ãV\¡' IÐ vL¨V JfV Wt]pOoLp] mÌRÕŸO W]a¨OÐO ?
 A) RaÐ}yV  B) mLyV¨ãV mL¥
 C) SYL¥lV   d) SmyV mL¥

35. RWLaOÕOÐ IÐfV BqORa fPs]WLjLoU BeV ?
 A) qLo¢jLp¡  B) WQxVek]ç
 C) SYLv]Î YeW¢  d) a]. qLo\NÎ¢

36. SsLW xPŸ]UYV \LÒ|¢x]Õ]¤ "\LÒ|¢ KLlV \LÒ|¢' IÐ fsR¨ŸV Sja]pfV BqLeV ?
 A) ^yVkL¤ rLe   B) An]jvV m]NÎ 
 C) oL¢xL¡ y]UYV   d) AÆs] nYvfV

37. 2004 Jf¢yV Kt]Ò]Wõ]¤ ̂ ]UjLð]W]¤ SoLz]j] nqfVvL V̂ Kt]Ò]WV Roc¤ Sja]pfV JfV 
qL^|¾]jV Svº]pLeV ?

 A) CÍ| B) ASoq]¨ C) fLpVsL£V d) SjÕL¥
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38. First Women Boxing Referee in India
A) Rasiya Shabnam B) mary Kom C) Nora Jones d) Seema Antle

39. The Afro-Asian Games held in India in 2003
A) Kolkata B) Chennai C) delhi d) Hyderabad

40. What is the official song of ICC Women’s World Cup 2022 called ?
A) Raise me Up B) Girl Gang C) New Rush d) Squad Goals

41. A special temporary high speed storage area within the CPU of the computer is
A) RAm B) Register C) Hard disk d) ROm

42. Which of the following is an input device ?
A) OmR B) Plotter C) Printer d) Speaker

43. The hardware component in the computer on a network which controls the flow of 
data regardless of wireless and topology used is
A) modem B) Router C) NIC d) Bridge

44. The elapsed time between the time of a program is submitted and time when it is 
completed by the CPU is
A) Waiting time   B) Seek time
C) latency time   d) Turn around time

45. Which of the following HTml tags is used to create a drop down list ?
A) <INPUT> tag   B) <SElECT> tag 
C) <lI> tag   d) <dl> tag

46. The Headquarters of International Union for Conversation of Nature (IUCN) is at
A) New york   B) Switzerland 
C) Nairobi   d) Paris

47. _______ specifies a framework of control of Environmental Management System.
A) ISO 14001 B) ISO 14011 C) ISO 14021 d) ISO 14061

48. Which is the first rocket that run on bio fuel ?
A) CmS-01 B) STARdUST 1.0 C) EOS-01 d) Carosat-3

49. ______________ is a multiple rocket launcher produced in India and developed by 
the dRdO for the Indian Army.
A) Trishul B) Cobra C) Arjun d) Pinaka

50. Which of the following is a renewable source of energy ?
A) Natural gas   B) Fossil fuels 
C) Nuclear energy   d) Solar energy
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38. CÍ|p]Rs Bh|R¾ vj]fL SmLWõ]UYV rlr] BqLeV ?
 A) ry]p xmÔU B) Soq]SWLU C) SjLr S^L¢yV d) y}o A£VRs

39. 2003 ¤ BSNlL&Jx|¢ RYp]UyV jaÐfV CÍ|p]¤ Iv]RapLeV ?
 A) W¤¨Ÿ B) R\RRÐ C) c¤z] d) RRzhqLmLhV

40. ICC vj]fL Sv¥cV WÕV 2022 Rs KTSh|LY]W YLjU Ar]pRÕaOÐfV I°Rj ?
 A) RrpVyV o} AkV B) SY¥ YLU°V C) j|P rxV d) Ø~LcV SYL¥yV

41. WUk|PŸr]R£ CPU v]Rs fLfV¨Ls]W h|OfSvYyUnqe òsU Ar]pRÕaOÐfV.
 A) RAm B) Rr^]ð¡ C) zL¡cV c]yV¨V d) ROm 

42. fLRu krpOÐvp]¤ JfLeV C¢kOŸV c]RRvyV ?
 A) OmR B) SkæLŸ¡ C) Nk]£¡ d) y×}¨¡

43. KqO RjãVv¡¨]Rs WÒ|PŸr]Rs zL¡cVRvp¡ ZaWU kq]Ye]¨LRf cLãpORa KuO¨V  
j]pNÍ]¨L¢ DkSpLY]¨OÐ vp¡RsyV SaLSÕLt^].

 A) SoLcU B) rPŸ¡ C) NIC d) Nm]cV^V

44. KqO SNkLNYLU yo¡Õ]¨OÐf]jOU, AfV kP¡¾]pL¨OÐf]jOU CPU IaO¨OÐ yopoLeV.
 A) Rvp]ã]UYV yopU  B) y}¨V yopU
 C) Ssã¢y] yopU  d) Sa¦ IrTºV yopU

45. fLRu krpOÐvp]¤ JfV HTml aLYV BeV SNcLÕV cT¦ s]ðV DºL¨OvL¢ 
DkSpLY]¨OÐfV ?
A) <INPUT> tag   B) <SElECT> tag 
C) <lI> tag   d) <dl> tag

46. C£¡jLxe¤ pPe]p¢ SlL¡ SWL¦v¡Syx¢ KLlV Sj\ÿ¡ (IUCN) R£ RzcV 
W~L¡SŸ¡yV ò]f] R\áOÐRfv]RapLeV ?

 A) j|PSpL¡¨V   B) y~]ãVy¡sL¢cV
 C) RRjSrLm]   d) kLq}yV

47. kq]ò]f] oLSj^VRo£V y]ð¾]R£ j]pNÍe \Ÿ¨PaV fLRu krpOÐvp]¤ JfLeV ?
A) ISO 14001 B) ISO 14011 C) ISO 14021 d) ISO 14061

48. mSpL CÌjURWLºV KLa]\ÿ Bh|R¾ SrL¨ãV JfLeV ?

A) CmS-01 B) STARdUST 1.0 C) EOS-01 d) Carosat-3

49. dRdO  CÍ|¢ B¡o]¨OSvº] j]¡Ú]R\ÿaO¾ KSq yopU KÐ]si]WU SrL¨ãOW¥  
v]Sƒk]¨LjOfWOÐ SsLµ¡ JfLeV ?

 A) Nf]wP¤ B) SWLNÒL C) A¡^O¢ d) k]jLWL

50. fLRu krpOÐvp]¤ JfLeV kOfO¨LvOÐ DT¡^¾]R£ Drv]aU ?
 A) jL\ÿ~r¤ Y|LyV  B) SlLy]¤ l|Pv¤
 C) j|PWæ]p¡ Ij¡^]   d) SyLtL¡ Ij¡^]
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51. Product of three numbers is 100. Sum of these numbers has its last digit 3. Then 
the second largest number among these three is
A) 2 B) 4 C) 10 d) 20

52. Raju bought a cycle and sold it after a year for 20% less price than its purchase 
price. If he had sold it for a price less by 10% of the purchase price, he would have 
gained Rs. 100 more than what he got now. Which of the following could be the 
purchasing price ?
A) Rs. 1,000 B) Rs. 1,200 C) Rs. 1,500 d) Rs. 2,000

53. On arranging 1/3, 5/7, 2/9, 9/14, 7/12 in the increasing order, we get
A) 2/9, 1/3, 7/12, 9/14, 5/7 B) 2/9, 1/3, 7/12, 5/7, 9/14
C) 1/3, 9/14, 5/7, 2/9, 7/12 d) 2/9, 7/12, 1/3, 9/14, 5/7

54. In a ward, 25% of the population are affected by COVId-19. Of these, 100 are 
male, 10 transgender and other female. If the ward consists of 300 female and they 
constitute 50% of the total population, then how many female are affected ?
A) 30 B) 35 C) 40 d) 45

55. An amount deposited for 2 years at simple interest rate 10.5% will yield same interest 
in 2 years if deposited for compound interest for 2 years (compounded annually) if 
the rate of compound interest is
A) 9.75% B) 10% C) 10.25% d) 10.5%

56. Average of four 3-digit numbers were calculated to be 335. later, it was found that 
one number had 8 at its second place and another number had 8 at its last place 
both of which were wrongly read to be 3 instead. If this mistake is corrected, what 
is the correct average of these four numbers ?
A) 340.55 B) 348.75 C) 350.5 d) 355.75

57. To completely tile a floor of area 220 ft2, tiles of size (in ft) 2 × 2 and 4 × 2 are available. 
Price of these tiles are Rs. 50 and Rs. 80 respectively per piece. The minimum cost 
of tiling the floor would be
A) Rs. 2,150 B) Rs. 2,210 C) Rs. 2,230 d) Rs. 2,240

58. Raju will complete a job in 20 days whereas Rani will do it in 15 days. Sahil can 
finish it in 12 days. If they jointly work for 2 days and after that Raju alone carries 
on with that work, how many days more will be required for Raju to complete it ?
A) 8 B) 10 C) 12 d) 14

59. A and B start a business with investments in the ratio 5 : 10. C joined the firm later 
and invested Rs. 20,000 and at the same time A and B invested Rs. 2,000 each so 
that the investments of A, B, C became in the ratio 10 : 15 : 25. How much A had 
invested initially ?
A) Rs. 4,000 B) Rs. 5,000 C) Rs. 5,500 d) Rs. 6,000
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51. oPÐO yUX|WtORa YOejlsU 100 BeV. Cv WPŸ]pL¤ W]ŸOÐ yUX|pORa AvyLjR¾ 
A¨U 3 BeV. A°RjRpË]¤ Cvp]¤ qºLoR¾ vs]p yUX| JfV ?
A) 2 B) 4 C) 10 d) 20

52. qL^O KqO RRy¨]¥ vL°] KqO v¡x¾]jOSwxU 20% v]s¨Orv]¤ v]ãO. B RRy¨]¥ 
10% v]s¨Orv]¤ v]ã]qORÐË]¤ qL^Ov]jV 100 qPk Ai]WU W]Ÿ]SpSj. IË]¤ fLRu 
RWLaO¾]q]¨OÐ yUX|Wt]¤ JfLeV qL^Ov]R£ RRy¨]t]R£ v]s ?
A) Rs. 1,000 B) Rs. 1,200 C) Rs. 1,500 d) Rs. 2,000

53. 1/3, 5/7, 2/9, 9/14, 7/12 CT yUX|W¥ BSqLze NWo¾]¤ IuOf]pL¤ joO¨V W]ŸOÐ 
yUX| JfV ?
A) 2/9, 1/3, 7/12, 9/14, 5/7 B) 2/9, 1/3, 7/12, 5/7, 9/14
C) 1/3, 9/14, 5/7, 2/9, 7/12 d) 2/9, 7/12, 1/3, 9/14, 5/7

54. KqO BwOkNf] vL¡c]¤ 25% BtOW¥ COVId-19 mLi]fqLeV. Cf]¤ 100 Sk¡ 
kOqOxÓLqOU 10 Sk¡ NaL¢yVR^¢Sc¡yOU mL¨] Nñ}WtOU BeV. B vL¡c]¤ 300 Nñ}
W¥ DºLp]qORÐË]¤ Av¡ RoL¾U ^j°tORa 50% vqOoLp]qOÐO. A°]RjRpË]¤ 
INf Nñ}W¥ SqLY mLi]f¡ BeV ?
A) 30 B) 35 C) 40 d) 45 

55. 2 v¡xS¾¨V 10.5% sZO ks]wp]¤ j]Sƒk]\ÿ]q]¨OÐ fOWàV 2 v¡xS¾¨V W]ŸOÐ 
WPŸOks]wpOU fOs| yUX|fRÐpLeV. A°]RjRpË]¤ WPŸOks]w INf wfoLjU BeV ?
A) 9.75% B) 10% C) 10.25% d) 10.5%

56. jLsV oPÐ¨yUX|WtORa wqLwq] 335 Bp] We¨L¨]p]q]¨OÐO. IÐL¤ Af]¤ "8' 
IÐ A¨U KqO yUX|pORa qºLU òLj¾OU, oRãLqO yUX|pORa oPÐLU (AvyLj) 
òLj¾OU  BeV DçfV.  CfV  "3' IÐV RfãLp] vLp]\ÿO IÐV ojô]sL¨]. CT RfãV kq]zq]
\ÿL¤ CT jLsO yUX|WtORa wqLwq] INf Bp]q]¨OU?
A) 340.55 B) 348.75 C) 350.5 d) 355.75

57. 220 Ø~p¡ l}ãO v|LkÅ]pOç KqO frp]¤ RRa¤yV CaOÐf]jLp] 2 × 2 l}ãV DU 4 × 2 l}ãOU 
v]ñ}¡¹oOç RRa¤yV sn|oLeV. CT RRa¤y]R£ (1 I¹U) v]s 50 qPkpOU 80 qPkpOU 
BeV. A°RjRpË]¤ B frp]¤ RRa¤ kf]Õ]¨LjOç JãvOU WOr´ \]svV INf 
BvOU ?
A) Rs. 2,150 B) Rs. 2,210 C) Rs. 2,230 d) Rs. 2,240

58. qL^O 20 h]vy¾]¤ kP¡¾]pL¨OÐ S^Ls] rLe] 15 h]vy¾]¤ kP¡¾]pL¨OU. yLz]¤ 
AfV 12 h]vy¾]¤ kP¡¾]pL¨OU. Cv¡ oPvqOU 2 h]vyU CT S^Ls] R\pÅf]jOSwxU 
mL¨] S^Ls] qL^OoLNfU fOaqOÐORvË]¤ qL^Ov]jV INf h]vyU Ai]WoLp] Svº] vqOU ?
A) 8 B) 10 C) 12 d) 14

59. A pOU B pOU j]Sƒk SrSx|L 5:10 ¤ KqO m]y]jôV fOa°]. C CT WPŸLpÜp]¤ k]Ð}aV 
vq]WpOU 20,000 qPk j]Sƒk]¨OWpOU R\pÅO. ASf yopU A pOU B pOU 2,000 v}fU  
j]Sƒk]\ÿO. CSÕL¥ A, B, C pORa j]Sƒk SrSx|L 10:15:25 BeV. A°RjRpË]¤ A 
Bh|U j]Sƒk]\ÿfV INf ?
A) Rs. 4,000 B) Rs. 5,000 C) Rs. 5,500 d) Rs. 6,000
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60. A train of length 100 m crosses a bridge in 20 seconds. If its speed is increased by 
10 m/s, the train will cross the bridge in 10 seconds. What is the length of the bridge ?
A) 70 B) 80 C) 90 d) 100

61. A train runs on every Thursday and Saturday. If 1st January 2020 is a Wednesday, 
then in 2020, for how many days the train would have run ?
A) 102 B) 103 C) 104 d) 105

62. After 5 o’clock, after how many minutes, the minute hand would have crossed the 
hour hand for the first time ?
A) 5 : 26 B) 5 : 27 C) 5 : 28 d) 5 : 29

63. A walks 40 m from his office in the North direction. Then he turns right and walks 8 m. 
Again he turns right and walks 34 m. How far he is from his office ?
A) 8 B) 10 C) 12 d) 14

64. In a security system, the number 3 is replaced with 7, 4 with 14 and 5 with 24. What 
would be the replacements for 6 and 7 respectively ?
A) 34, 47 B) 34, 37 C) 31, 41 d) 36, 50

65. A has more marks than B, B has less marks than d, but more marks than E. C has 
more marks than d. Then which of the following is possible ?
A) d can be the least   B) B can be the highest
C) A can be the highest   d) E can be 2nd least

66. If + means ×, – means + and 5 + 3 – 8 × 2 = 19 (with no more replacements), then 
× means
A) ÷   B) +
C) –   d) Cannot be determined from this data

67. Pick out the odd one.
A) Radio : Speaker   B) Phone : SIm Card
C) CPU : Processor   d) Plant : Pot

68. If COW is ERAd, RAT is TXXS, HEN is JHRI, then FOX is
A) HSBF B) HRBG C) GTCd d) GPZA

69. C is the sister of P, Q and R. Father of Q is d. P is the son of y. Then which of the 
following is true ?
A) R is the daughter of d  B) Q is the sister of C
C) Q is the daughter of y and sister of P d) C has mother y

70.  A clock gains 1 minute every hour. The clock is corrected at 1 o’clock. If the mirror 
image of clock shows 4 : 33, what will be the time approximately ?
A) 4 : 29 B) 7 : 15 C) 7 : 20 d) 8 : 17
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60. 100 o}ã¡ j}toOç KqO RNap]¢ 20 Ry¨£]¤ KqO kLs¾]sPRa WaÐO SkLWOU. B RNap]
j]R£ y×}cV 10 m/s WPŸ]pL¤ RNap]¢ kLs¾]sPRa 10 Ry¨£]¤ WaÐO SkLWOU. A° 
RjRpË]¤ kLs¾]R£ j}tU INf ?
A) 70 B) 80 C) 90 d) 100

61. KqO RNap]¢ IsæL v|LuLuV\pOU wj]pLuV\pOU KLaOÐO. 2020¤ ̂ jOvq] KÐV KqO mOijLuV\ 
BReË]¤ 2020 ¤ INf NkLvw|U B RNap]¢ KLa]p]ŸV DºLvOU ?
A) 102 B) 103 C) 104 d) 105

62. 5 oe] V̈ SwxU INf o]j]Ÿ]jO SwxU Bp]q]¨LU SWæL¨]R£ o]j]ŸV yP\] oe]¨P¡ yP\]Rp 
Bh|oLp] WaÐO SkLpfV ?

 A) 5:26 B) 5:27 C) 5:28 d) 5:29

63. A 40 o}ã¡ fR£ KLl}y]¤ j]ÐOU va¨O h]wp]Ss¨V ja¨OU. Af]jOSwxU vsS¾LŸO  
f]q]´O 8 o}ã¡ v}ºOU ja¨OU. v}ºOU vsS¾LŸO f]q]´O 34 o}ã¡ ja¨OU. 
A°RjRpË]¤ A CSÕL¥ fR£ KLl}y]¤ j]ÐOU INf hPq¾LeV ?
A) 8 B) 10 C) 12 d) 14 

64. KqO yOqƒL y]ð¾]¤ 3 IÐ A¨U 7 BpOU 4 IÐfV 14 BpOU 5 IÐfV 24 BpOU 
oLã]p]q]¨OÐO. A°RjRpË]¤ 6 jOU 7 jOU kWqU DkSpLY]¨OÐ yUX|W¥ JRfLR¨ 
pLp]q]¨OU ?
A) 34, 47 B) 34, 37 C) 31, 41 d) 36, 50

65. ‘A’ àV ‘B’ Sp¨L¥ oL¡¨V WPaOfsOºV. ‘B’ àV ‘d’ Sp¨L¥ WOr´ oL¡¨V BeV. IÐL¤ 
‘E’ Sp¨LtOU  Dp¡Ð oL¡¨V DºV. Cf]¤ ‘C’ àV ‘d’ Sp¨L¥ Dp¡Ð oL¡¨OºV. IË]¤ 
fLRu krpOÐvp]¤ JfLeV wq] ?
A) ‘d’ àV BeV JãvOU WOr´ oL¡¨V B) ‘B’ àV BeV JãvOU WPaOf¤ oL¡¨V
C) ‘A’ àV BeV JãvOU WPaOf¤ oL¡¨V d) ‘E’ àV BeV kOrW]¤ j]ÐV 2&LU òLjU

66. ‘+’ jO kWqU ‘×’ BReË]¤  ‘–’ IÐfV ‘+’ BReË]¤ AfOSkLRs 5 + 3 – 8 × 2 = 19
(CSf SkLRs fRÐ) ‘×’ A¡ÀoL¨OÐfV ?
A) ÷   B) +
C) –   d) CfO WºOk]a]¨LjLv]sæ

67. fLRu krpOÐvp]¤ "Kã' BpfV f]qR´aO¨OW.
A) Src]SpL : y×}¨¡  B) SlL¦ : SIm WL¡cV
C) CPU : SNkLyy¡  d) R\a] : \Ÿ]

68. COW IÐfV  ERAd IÐOU RAT IÐfV TXXS IÐOU HEN IÐfV JHRI IÐOU 
BReË]¤ FOX IÍLp]q]¨OU ?
A) HSBF B) HRBG C) GTCd d) GPZA

69. P, Q, R IÐ]vqORa ySzLhq] BeV  ‘C’. ‘Q’ v]R£ A±¢ ‘d’ BeV. ‘P’ IÐpL¥  ‘y’
pORa kONfjLeV. A°RjRpË]¤ fLRu krpOÐvp]¤ JfLeV wq] ?
A) ‘R’ IÐpL¥ ‘d’ pORa kONf]pLeV 
B) ‘Q’ IÐpL¥ ‘C’ pORa ySzLhq] BeV
C) ‘Q’ IÐpL¥ ‘y’ pORa kONf]pOU ‘P’ pORa ySzLhq]pOU BeV. 
d) ‘C’ pORa AÚpLeV ‘y’

70. KqO Za]WLqU KLSqL oe]¨Pr]sOU 1 o]j]ŸV v}fU WPaOf¤ KLaOU. 1 oe] BpSÕL¥ CT 
SWæL¨]Rs yopU wq]pL¨] kOj:òLk]\ÿO. CSÕL¥ W¹La]p]¤ SWæL¨V WLe]\ÿ yopU 
(o]r¡ CSo^V)  4:33 BReË]¤ JWShw yopU INfpLp]q]¨OU ?
A) 4 : 29 B) 7 : 15 C) 7 : 20 d) 8 : 17
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71. Add a question tag : ‘‘I told you, ________ ?’’

A) did I   B) didn’t I  

C) Have I    d) Haven’t I 

72. Without supervision, children might eat unhealthy food or lead a sedentary lifestyle. 

Identify the meaning of the underlined word. 

A) Inactive    B) Energetic  

C) Stationery    d) mobile 

73. Identify the correct spelling out of the following. 

A) Oppurtunity, previlege   B) Oportunity, priviledge 

C) Opportunity, privilege   d) Opurtunity, priviledge 

74. He said his job is to attend to the diseases of the eye. Give a one-word substitute 

to the underlined words. 

A) Ophthalmologist    B) Optician  

C) Occultist    d) Obstetrician 

75. What is the meaning of the idiomatic expression in the following sentence  ?
Our entire class is quaking in its boots.

A) To shiver in the legs    

B) To make squeaking sounds 

C) To tremble with fear or nervousness  

d) To laugh out aloud 

76. Fill in the blank with the appropriate word.
The manager __________ (to) a pay hike next month. 

A) Elude    B) Illusion  

C) Collude    d) Allude 

77. Choose the word nearly opposite in meaning to the word fact.

A) lie    B) fiction  

C) imagination    d) reality 
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78. Fie on him who professes friendship but lacks the sincerity of a friend ! 
Change the above sentence into assertive. 

A) Alas! Shame on him who professes to be a great friend but lacks the  

sincerity of a friend.

B) It is a pity that he professes to be a great friend but lacks the sincerity of one.

C) I cry shame on him who professes friendship but lacks the sincerity of a friend.

d) None of the above 

79. Fill in the blank with the appropriate word.  
The brothers together with their sister ___________ here. 

A) are   B) is  

C) am   d) was

80. Fill in the blank.  

my mother helped me __________ my homework.

A) to do    B) doing  

C) did    d) do 

81. Pick the option that turns the sentence passive.

Something _____________ happened or they would be here by now. 

A) must be    B) must have  

C) must    d) must have been 

82. Fill in the blanks with articles. 

mr. Bajaj was __________ very fastidious person who lived in __________ small 

house with __________ beautiful garden. 

A) the, a, a   B) a, the, the

C) a, a, a   d) no article, a, the

83. Choose appropriate modals from the options below.

Kamala took a long flight from Tanzania. She __________ be exhausted after that. 

I told her, “you ________ rest, dear.” 

A) could, might    B) should, must  

C) can, should   d) must, should
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84. Correct the sentence if there is an error. 

you can pass the examination if you answer the questions with precision, accurately 

and quickly.

A) Precisely, accurately and quickly 

B) With precision, with accuracy and with quick

C) With precisely, accurately and quickly

d) No error

85. Complete the sentence : 

If Suhra lent us her car, we ____________ 

A) might have gone to Aluva  B) could have gone to Aluva 

C) could go to Aluva    d) none of these 

86. Pick a preposition : 

I am accustomed __________ hard work.  

A) with    B) about  

C) to   d) at

87. Single the odd one out.

A) shipwreck    B) plane wreck  

C) car wreck   d) train wreck 

88. midhun has a ________ of doctors. Select the correct form of trust.

A) distrust    B) mistrust  

C) trustworthy    d) mistrustful 

89. Use a phrasal verb.

He does not ____________ any misbehaviour in his class. 

A) get through    B) put up with  

C) get along with    d) put down with 

90. What is the meaning of prima facie ?

A) the most important    B) that which comes first 

C) the face that is young   D) at first view 
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91. wq]pLp qPkSofV ? 
A) ^}vêvU  B) ^}v±vU 
C) ^}vévU   d) ^}vfV±vU

92. "yz]fU' – v]kq}f khU. 
A) Az]fU   B) hO¡z]fU 
C) qz]fU   d) Akz]fU

93. krpOÐ B¥ – KãÕhSofV ?
A) v]vƒ]fLvV    B) v©LvV
C) SNkx]f¢   d) NkSpL©LvV

94. Strike breaker – yoLjoLp ospLt RRws]. 
A) WLsOvLqOW   B) CqŸ¾LÕV
C) Wq]ËLs]  d) Aa]prRvàOW

95. "^sU' kq|LpkhSofV ?
A) j}q^U B) oqÎU C) AUmOhU  d) AÕV

96. WºO – k]q]R\ÿuOfOW.
A) W¦ + aO   B) W¦ + fO 
C) W¦ + ºO   d) W + ºO

97. kOsæ]UY Nñ}s]UY S^La]p]¤ RfãLpfV JfV ? 
A) pL\W¢ – pL\W]   B) SsXW¢ – SsXW 
C) yLƒ] – yLƒ]e]  d) WLg]W¢ – WLg]W

98. "WìRÕaO¾OW' IÐ A¡À¾]¤ NkSpLY]¨OÐ RRws] JfV ?
A) jƒNfRo¹]¨OW  B) WLaOWprOW
C) DÚL¨] WLŸOW  d) W¹]¤ o¹]aOW

99. A + WLsU – S\¡R¾uOfOW.
A) AWLsU B) B¨LsU C) A¨LsU d) BWLsU

100. RfãLp vLW|U JfV ? 
A) `L¢ WæLy]¤ S\¡Ðf]jO WLqeU Ar]pLjOç BNYzoLeV. 
B) `L¢ WæLy]¤ S\¡Ðf]jO WLqeU Ar]pLjOç ^]³Ly RWLºLeV. 
C) `L¢ WæLy]¤ S\¡ÐfV Ar]pLjOç BNYzU RWLºLeV.   
d) `L¢ WæLy]¤ S\¡Ðf]jO WLqeU ^]³LypLeV.
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Space for rough work
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Space for rough work
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S\Lh|°tORa BRW I¹U : 100 yopU : 75 o]j]ŸV 
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 70 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU) Bp] 
A\ÿa]\ÿ]q]̈ OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV oLi|o¾]
sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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